[

Preparation before the installation

Lay down the container house
on the flat ground . The
difference for level height of
the four corners can t be more
than 2-3mm. Use some materials to
support the container
house, prevent rainwater flooding
and the bottom beams rusting. (in
this diagram , we use the concrete
block to support on four corners)

2438

2438

6058

concrete block plan




Step Z2: Lay down the floor chassis

Put the Floor chassis of

container bottom on the four

Concrete blockes

6058

J in order to install the water—proof Rubber strip

]| Here,pls leave 10mm space when install,

Concrete block

jﬁ
|

in74

18724

Layout for the floor chassis of container house




3 =

Step S: Install the column

Correspond the pier plate hole on the
bottom to the connect holes on the
column feet,then fix it by M10*25
bolts.In order to install the container top
easily ,so we don't need to tighten the
bolts (please refer to diagram A)

Column

Column

Column

Bolt

OM10*25

Floor chassis

Column
Column

oor Chassis

Installation for the floor chassis and Columns

ns connect plate




e

roof top

Step 4: Install the roof top O #81}25
Hang the container top up, correspond the hole on top plate to
connect holes on the columns,fix it by M10*30bolt, then ,tighten
the bolts for container bottom and columns, top and
columns.made them to be Integrated. Column

ﬂl n

\
!

The connection for roof top and comer column
horizontal view

Installation for the roof top and Columns




2

teel sheet
PU foam

5

Step 5: Install the wall panels

First install the wall panel on the long side from the corner column,then ,then install other wall
panels along the long side ,the feet of wall panel will be put on the bottom beam , the upside will be
fixed by connect parts(refer to diagram C, when connect two wall panels,make sure surface wall panel fixed parts |
counterparts flat, then tighten the panels.during installing wall panel if some panels have electricity
wires, firstly install the electricity wires , then install wall panel .(refer to diagram D)

Top beam—1 |

when fix wall panel : 1) al—igﬁent the feet of

wall panel to the bottom beam, made the wall panel to
achieve equitable vertical, ”?) fix wall panel with Top
beam with connecters, after fix the horiztontal
bolt, screw the vertical bolt to wrung out
direction, tight the bolt to upper beam (in order to
prevent the panel bulge upward under pressure and
conneter fall down

Top_beam
Lelurnn PVC hose

Wiring |

D

outside the electricity wires is
PVC hose.electricity wires will
go through the conduit pre-set
in container roof top, and
connected to the main wire in
the junction box.




6 = Step 6: Install the connection accessories

The connection accessories included the connection of top and
bottom,connection of floor, decorative covers sheet as weel as the
Water—proof rubber strip, the connection of top and bottom need to use the
bolts and gaskets, pls check the diagram E,F; connection of floor, pls check
the below diagram; decorative covers sheet for Columns and top beams, pls
check @@, the outside of connection place, use the Water—proof rubber strip
to make it sealed, after finished the installation of rubber strip e e The
bolts. —

water—proof

W=7

The connection

M16*80 8.8s
1 for letiuright container house

5]

80*16*120

Details for gasket

\‘ M10%30 Connection gagket
< |Tecoredionot i come coim o0 o s Roof|top
Roof top Q
L e RA . BRR
Corner column, ter finishd the installaion of wate[-proof rubb
E
Connection details
Clorner column
Floor Chassis Floor Ghassis
connection bolt for corner|column and floor chassis
% . M10*30 Connection gapket
The connection polt for letfdmight container house | | 80%16+120
M16*80 885 Mter finishd the installation of water-proof rubbe

F

Connection details

12mm thickness Laminated floor panel for connection place

13

I L 1
Aol Iacltlalny T T T
T TR

. 220

12mm thickness the plywood for connection place
sub-loor beam
- Hoorbeg

T-shape copper bar

e

I
uluc
CTE
B

5698

6058

connection panel for floor

 strip,ighten the bolts

strip,lighten the bolts




7/ <=

Step /:the details for the installation of wall panel

In order to make it easy,usually leave the short side which with two panels to be installed
finally, when install the last wall panels , push the one wall panel tightly to the
columns, then install the final pc wall panel aligned position

push the side wall panel to the origin position . (refer to the follow diagram)

6058

O
- =
step | step 2
push wall panel 1 then take wall panel 2 to the inside, one side of wall
tightly to columns panel will be put into the gap in the columns, turn

the wall panel to expect position , treating the
vertical line of the wall panel as dot

Step 4
Finally push wall panel
1 to the origin place,




3 <

Step 8:Install outside wall pressed strip

After install wall panel, insert the wall panel pressed strips into
wall panel bottom, put the bolt (@5.5%105) inside the bolt holes, fix
bolt, so it can be connected on the bottom beam (refer to diagram G)

- )/ youtside wall pressed strips
- |
/.

772277724 self-tapping screw(with cap)

Water—prodfsybber strip
> / — loor beam
N § ///////////////,
\\ﬁ/ G
Water—proof nybber strip |
Cross—section
e

W\

outside wall pressed stripSS

push it inside the bottom of wall pane

Install the wall panel pressed strip




o | 1

Step 9: Install inside decoration lines |

Firstly install the inside corner decoration linecolor steel I
2300) (refer to diagram D), when Install Top decoration e
line, after installing Top decoration lines color steel decoration strip “
supporter, tighten the decoration lines with decoration Rivet” L
line supporter, when install corner decoration line ,use 7
decoration line inside corner to connect(refer to Top
decoration line installation step) .

g H

Corner decorative strip

2266

The installaton step for Top decoration stips:

Top decoration strips.support parts
Serew

160,

2438 ‘ For the each side of one pc decoration
strip will install one pc decoration strips the decoration strips supporters (2

supporter, In the
decoration strips
side install 2pcs
, short side will
decoration strip,
decoration strips

Jlf =g b -

Right angle connector face,Side, perspective view Corner connector right and left view sealing head

middle , add some
supporters. For the long
2950mm decoration strips
install one pc 2200mm
then isntall the
supporters,

diagram diagram diagram

Right—angle connector diagram

Right—angle connector
0

Top decoration strips support pafts a KE '<%
Top decoration strip 4 7
wpd |
J
Top decoration strip

Top decoration strp

Step 2

insert the decoration strips in to

pcs decoration strips will connectd
by connecter parts) o

Finally decoration strips on long
side and short side will be connect
by decoration strips outside corner

Carne
0
decoration strf

Corner connector diagram




Step 10: Install the inside decoration lines 2

It will be same way for installing the
skirting as installing the container top

decoration strips(refer to the
installation instruction) .

2266
_

|

| ,

Ak

| 17 -
b T

2438

160,

outside wall pressed strips

self—tapping screw(with cap)

Sub floor beam

Floor beam—1

Skirting lines

The installation for the bottom decorative lines

% The bottom decorative lines

v 4777%277
Skirting lines 7772 N . 77707
777 Siting deconlingods {27749 _
Scre /Cy/ Irting decoration parts o
7L Y IA
v %
/72
Step 1 Step 2

long side of container bottom is Zpcs

2950mm decoration strips
2200mm decoration strips
strips with bolt firstly.

, short side is
, fix decoration

Bottom decoration strips
which has middle bolt parts
will be compact by small

decoration strips

Decorative lines

sealing head of decoration lines

sealing head_connect details

Remark:

Skirting connecting
including the Straight
line connecting, corner
connecting , skirting
sealing head, refer to
the container top
decoration strips
installation instruction
diagram




@ . /0mm PU foam @ Somm PU fogm  70mm PU fog Water-proof rubber strp
WOT=PrOGLTUBOEr S 490w thickenss steel sheet NI P TL

i 1 Hr-prol ”bm'gw 0. s et QAL ksl e
0.42mm thickenss steel sheet o L _, e i _L|_F AN => decordl
P et gt % g Rivet 6415 ecorafive cover
instal the steel decorative cover o the connection place of top beams v the decartie corer o themainsteelframe vith et decorofvg Cp\éerdp(]rts for top beams
nisne
@ o o g fomm thickness wall panel
Jomm thickness wall panel \ ' N Rivet #4%15
p N 7omm thickness wall panel } Z
i (.42mm thickenss steel sheet / 0.42mm thickenss steel sheet /] Col
Column |\t / Column | { —_ olumn
= ickenss steel sheet -
. -SH‘ \ \
7ommm thickness wall panel {1 7omm thickness wall panel { e i ot gasqs jﬂmm thickness wall panel
Step | Step 2
install the steel decorative cover to the connection place of columns Fixed the decorative cover to the main steel frame with Rivet decorative cover parts for Columns

Finished




